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Similarity: Simplifying Radicals

7.1R

LO: | can simplify radical expressions including adding, subtracting, multiplying, dividing and

rationalizing denominators.

[]DONOW  On the back of this packet

[ ](1) Simplifying Radicals: Finding hidden perfect squares and taking their root.
Simplify each expression by factoring to find perfect squares and then taking their root.

calculator

1) A75

3) \/36

5) \/80

78

9) \/32

11) A8

13) NV 125

15) N175

17) A/45

19) 20

2) 16

4y \ea

6) \/30

8) \/18

10) V12

12) V108

14) A/50

16) \/28

18) \72

20) V150




71R
[ ](2) Simplifying Radical Expressions: Adding and Subtracting
@R 7] Add or subtract radicals by simplifying a.2V2 +V5 —6V2 = —4V2 +V5  Subtract like radicals.
each term and then combining like terms.
b.4V3 —V27 =4V3 — V9.3 Perfect square factor
=4V3 —\V9 3 Use product property.
=43 —3V3 Simplify.
= \/§ Subtract like radicals.
1) 36 -4/6 2) —W7 + M7
3) —11W21 - 11V/21 4 —n15 + 10715
5) —10V7 + 1287 6) -3\ 17 - a17
7) =10V 11 — 11V 11 8) —2N3 +3V27
9) 20/6 — /24 10) 24/6 + 354
1) 12+ 33 12) 33 -A27

13) 3V8 +3W2 14) -6 + 36
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[ 1(3) Simplifying Radical Expressions: Multiplying

calculator

Multiply numbers that are BOTH INSIDE the radical.
Simplify the expression

[](a) Multiply numbers that are BOTH OUTSIDE the radical.

2.5= 2.5=__ J2+5=_
23+5=__ 2J3+J5=__ 2J3+45=__
1) V6 - 46 2) /5120

3) A2 A3 4) w8 A

5y A/12 -A15 6) \/5 - 2\/5

7y =35 -A20 8) V15 - W5

9) V9 A3 10) —4\/8 -A/10
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[ ]1(4) Simplifying Radical Expressions: Dividing and rationalizing the Denominator

calculator

6 V6 NG 12/6 126
3 N/ 2 —— 2 V2 ——
Simplest form for fractions with v
1. No perfect square factor under vV ex. V75 = V25v3 = 5v3
3 3 3
2. No fractions underaVv ex. |—= £ = £
4 a2
2. o™i a denaminat 2, B_28_28
. No in a denominator ex. N A
4. Must be reduced ex. szﬁ = 44/5
0y V8 o 1
NG N7
5 V2 ) V2L
e A/15
15) ﬁ 16) ﬁ
A7 \3
\15 \g

17y X2 18
' e N
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[](5) Exit Ticket
calculator

ON THE LAST PAGE

[ ](6) Homework
calculator

Simplify each radical expression. ODD PROBLEMS REQUIRED

1.  J5415 2. V14 /35
3. J2(V3 - 5) 4.  3(J27 - 3)
5. J2(4J6 + 10) 6. N7(3- 7)

7. 5345 - 443) 8. Jy(Jy - +5)
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[ 1(6) Homework
calculator
[ ] Simplify each radical expression. ODD PROBLEMS REQUIRED
27 14 24
21. Te 22. ? 23. PP
7 10 2
24. c 25. - 26. 5
5 6 2
27. — 28. — 29. —
J10 V3 J6
15) =3720 -5 16) 2N45 — 245

17) 3318 =22

19) 318 + 312 + 027

18) —3\/18 + 3\/8 = /24

20) -3\/5 —J6 -5



Exit Ticket Name Date Per 71R

(1) The LO (Learning Outcomes) are written below your name on the front of this packet. Demonstrate your achievement of
these outcomes by doing the following:

Simplify each expression completely.

2. J14 35 16) 24/45 =5

18) —3V18 + 378 =24 4.  J3(27 - 3)

How is the number trying to “come between us?” mathematically silly?

[y :
®
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DO NOW Name

Date

Per

71R

A perfect square is a number whose square root is an integer. Use the pattern below to fill in the remaining perfect squares

and their roots. (USE A CALCULATOR)

12=1 SO 1 =1
22=4 S0 4 =2
32=9 SO 9 =_
2= SO 16 =
52=25 SO 25 =
62=_ SO \/—=_
7=__ SO 49 =
82=_ SO \/—=_

92= SO
102=__ SO
M2=__ SO
122= SO
132=_ SO

142= o)

152=__ SO 225 =_

162 = 256

172=

182=

192 = 361

202 =

212=

222=

232=

242 =576

252 =625

262 =

272=T729

282=784

292 =

302=900

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

SO

256 =16



1) 36 -4/6
/6

3) —11V21 — 11721
21

5) —1V7 + 1247

07

7y —1W11 = 1W11
W11

9) 276 — 20/24
NG

1) 12 +33
\3

13) 3\/§+ 3\6
N2

2) -7+ 47
N7

4 -N15 + 10V 15
\15

6) =317 =417
W17

8) -3 + 327
W3

10) 206 + 3\ 54
1V6

12) 3W3 =27

0

14) -6 + 3W6

0
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15) =37/20 /5
s

17) 318 =22
W2

19) W18 + 3312 + 27
w2 +124/3

21) =3W2 + 3320 — 338
— 2+6\/§

23) —0/20 + 2018 = 24/5

—6 5+6\/§

25) /45 + 25 =20 - W6
NN

27) —3W45 + 2712 + 3W6 — 320

_15v5 + 443 + W6

16) 24/45 — /5
w5

18) —3\/18 + 38 —A/24
2 -6

20) -5 -6 -5
—a\s -6

22) ~3W3-A/8 - 3/3
—\3 -2

24) W18 =12 + W18
172 — a3

26) 20/20 =20 + 3320 — 20/45
N5

28) 27 — 3W45 —A20 + /45
33 -5s



1) 75
s\/3

3) V36

6

5) \/80
w5

7 8
22

9) \/32
w2

11) \/8
W2

13) AV 125
\5

15) 175
N7

17) \45
W5

19) A/20

AT

11

2) N16

1) \e4

8

6) N30
\30

8) V18
2

10) V12
N3

12) /108
3

14y A/50
s\2

16) \/28
N7

18) /72
N2

20) A/ 150

-~
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8
I
9
2
4. |=
3
2
S V7

Multiply numerator and denominator by V5,

Multiply fractions.

3 _3 Vs
Vi Vs s
35
V5.5
=¥ Simplify.
1 __ 1 c+Vd
c—Vd c¢—Vd c¢+Vd
c+Vd

2

(c—\/g)(c-i-\/g)
c+Vd

g

Multiply numerator and
denominator by the conjugate.

Multiply fractions.

Simplify.
18 3 15
x2 "4l 36
5 . 5
7 "2

3
o

Yo
B



